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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-9 0
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P3-9

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

06:50 174 90.0 [Z=| {RiBe06:50 Bz (KRAFEHE)
07:45 174 90.0 |Z=| {Ri%e07:45 Bz (REAEZBE)
08:40 174 90.0 (Z=| {Ri%@08:40 Bz (FFMERSE)
09:45 174 90.0 FA| 1Bi&@09:45 B3h (KRAFEREE)
10:45 174 90.0 BH| {Ri%@10:45 Bz (RAERESE)
11:35 174 90.0 FH| 1Bi&e11:35 Bzl (RAEREE)
12:25 174 90.0 FA| {Ri%e@12:25 Bzl (GRAEEE)
13:15 174 90.0 FA| {Ri%@13:15 Bz (GGRAERE)
14:30 174 90.0 FH 1Rige14:30 Bzl (GRAEREE)
21+ 1566.0 (9)%) 810.0 3203 %EC: 2080.0, PH: 6.0

FEREHEBRE STEELRF (113.0

2RIA\ SLFRGERE80. 0 ml.

80.0), AIREAT—@E XA45)
EORGEBIRTC (174) 57048 (196. 0) A FF, AIeEH T % @R #EiRS %2 XiER

RERSEBIEC (2710.0) HigZEEC (2000.0) REK K, BHHE

O &RECZE (2710.0 vs 3998.0) /e




FRV (ml plant-1)

ET (ml/hr/plant)

11

ET (ml/hr/plant)

P3-9_0, Day=28 (2025-04-30)

VI, VPRV, ET = VI, VO, FVI, FVO, FRV, adjFRV, ET | 1500
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60 41100
904 - 1000
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20" 00
130 Warning: lcol ['FVI',| "FVO'] missing
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1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-9

BfiE) | GEBEETIC (FD) | EHM=E (EAH/K) | XK R

06:25 152 70.0 |Z=| 1BRi%e06:25 Bzl (FAERRE)
07:30 152 70.0 FA| {Ri%@07:30 Bx (RAEEE)
08:05 152 70.0 |2 Z=| (Ri%@08:05 Bz (RAMEEEE)
08:40 152 70.0 |2 =| (Ri%@08:40 Bz (RAMEEE)
09:15 152 70.0 = {Ri%e09:15 B (RFAEZSE)
09:55 152 70.0 E| {Rig@09:55 Bah (RE{ERSE)
10:35 152 70.0 | 1Ri%e10:35 B (KAERSE)
11:10 152 70.0 =l Rige11:10 B3 (GRAERSE)
12:00 152 70.0 E| {Rig@12:00 B3h (RE{ERSE)
12:55 152 70.0 5| 1RiRe12:55 B (REAERES)
13:45 152 70.0 = RRiB013:45 B (RFAKEESE)
14:25 152 70.0 E BRige14:25 Bz CGRAERESE)
15:00 152 70.0 El BRi&e15:00 Bz GGRAEREE)
15:50 152 70.0 =l RRiB@15:50 B (RFAEEE)
16:55 152 70.0 5| {Ri%e16:55 Bz (REAERSE)
21t] 2280.0 (15)%) 1050. 0 3 WHKEC: 2080.0, PH: 6.0

HERRHEME S TEAERTS (195.0 : 138.0), AIgEMF—RE XA
LORGEBEETC (300) 5T (152. 0) NFF, FIAEH T % 1@ [E)#IRS % XER]
BRIASERRERE138. 0 ml.

BE X i# B ECE 1R k.

BEREBIEC (2663.0) 5i¥TEEC (2000.0) HEILKA, BFHE
#ERECE (2663. 0 vs 3795.0) his

REXREBT I HEREC/PHER K, FIREINIRAR R



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=27 (2025-04-29)
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P3-9

BfiE) | BB (F) | EdiE (ER/HK) [ XK R

07:10 190 70.0 =] {BRi%e07:10 F3 (REAERESE)
07:45 190 70.0 E| {Rig@07:45 Fzh (REERSE)
08:20 190 70.0 = {Ri%@08:20 Fz (KRFAERSE)
08:55 190 70.0 = {RRiB@08:55 Fzh (FRFAIREE)
09:40 190 70.0 = RRiB009:40 Fzh (RFAKEE)
10:30 190 70.0 =l {Ri%@10:30 F31 (RAERSE)
11:15 190 70.0 =l Rige11:15 Fz1 (GRAERSE)
11:55 190 70.0 =l RRiBe11:55 Fz (REAKEE)
12:30 190 70.0 = RiB012:30 Fzh (REAEEE)
13:10 190 70.0 E[ BRige13:10 Fz1 CGRAERESE)
13:50 190 70.0 | Ri%@13:50 F3 (RS
14:30 190 70.0 = RRiB014:30 Fzh (REAEESE)
15:10 190 70.0 F[ BRige15:10 Fz1 CGRAERESE)
16:00 190 70.0 =] {Ri%@16:00 F31 (REAERESE)
21t] 2660.0 (14)%) 980. 0 3EHKEC: 2080.0, PH: 6.0

MEAEHER B STAAEART (124.0 : 87.0), AR TF—@AZ XA
EORGEBRRTIC (190) S5THA (152. 0) AN FF, FIREE T % WEERS X XER
ZRIASKPRIERE87. 0 ml.

large discrepency for begining water status (183:33.0), set to 183 ml
REX 13 Bl RECEHE TR K.

REXEBIEC (2620.0) 5iZFEEC (2000.0) REKR K, HHRE

P[EIRECE (2620. 0 vs 3592.0) fRs

REREBFHHEREC/PHER K, AIRERZINIRELRTK



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=26 (2025-04-28)
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